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—_ Definition. Given an infinite Sequence %, ai(,b%2,.., of #s
P weladd alllofcthe i numbers in. the sequence together

we have en infinife series.
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Definition: Tf we look at just the Pirst n terms in the

Serics, -Ha:shns called the n#hjparhal sum.
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Note that in either cuse, we are adding p the first

Yerms of Hie series. The only diBerence is e maﬁewnq :

The sepies is suid +o be ccnucrcfg(m P lim  Sw exists and
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is equal to o Pinike real wumber, If lim Sy s Mnfinlke
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or does not exis b, Hun He series is said to be cfiver@en&.
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Remembcr we wont to Pind He Pfirgt Four terms copel

sum Hem,
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anmo)e 2, Use summation nofahon to wrife the series in

com pae t form.
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hrer oo at tHhe humerators, we see e,e ,6 /eq/egl e

il wc start He sertes at h=l, we cun s<e an wul\




have " in the numerator,
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Firsy notice that each term alternates from = and +, So

4 will heve (V)" term, assuming. we shart e Sim

with n>|. Y |

Sewncﬂlv, the numeralor §  are Just powers of 5 S s

numerator will have 37,

LaSHV, the cﬂer;omma%% Ure Dcr?cc»‘ Squares, S0 %,'s
denominator wil have n°,
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Example 3. Use summation /)ofahon to wpite the series In

com pad form.
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(zeometric Series

If Oc<clrl¢l, then & n 2

is a qeometric su

First we see thal n starts ab | not 0. S0 lets add and
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S N —l+ ) N )

=l \ 22/ 2 m\aa} o\

Then Cht%}/t IP vow- (Hm ‘-ﬁr Uuncfer Hue oower o“f n) is

\ndM 0<\r|6\ \/\I\mcl'\ it &ots SO we can use the 'er‘mulq
o NG apelst () M B 99
) ,ﬁ':—o kﬁ'&j \- Y22 \%an 13
Hence) S/ aaNdie | 47280 dised
h) N oey es s
BN
YY)
We See n=0, So we immediately jump do cheching if =7

_ )




is indeed O<lric|. Whicl it cé’z;aqnj_f = divu:fpss
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First we sce Hw’r m starks at | not 0. So let%s add and
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Now cheek if both ()" derms scatisty O<|rl<|, So r=v5

13 between O and |, and so is 2V ., Hence we can wse

the formulas on each |
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